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6 EHARTE 42 41 83| 7.0 76.0 41 BT A 44, 48 92 11.0 81.0 76 75112 46| 46 92 7.0 85.0 111 T EEUA 51 51 102/10.0| 92.0
7 1)1 F5 48t 44 44 8812.0 76.0 42) = L% 46 47 93 12.0| 81.0 77 s L 46 47 93 8.0 85.0 112 % H— 46 56 102/10.0| 92.0
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18] B P LAt 39 47 86/ 8.0 78.0 53 FHiM& 43 51 94 12.0 82.0 88 HpgHE K 49| 48 97 10.0 87.0 123 RJIE 53 55 108/12.0| 96.0
19 EHER 46 43 89 11.0 78.0 54 BB BRI 41 48 89 6.0 83.0 89 [LIAHEH 49| 49 98 11.0 87.0 124 KL IEHE 53 56 109/13.0| 96.0
20 VAT B 44 46 90/12.0| 78.0 55| A {5 HH 46 43 89 6.0/ 83.0 90 H H kg 46| 53 99 12.0 87.0 125 HAEZ 55 55 110/13.0 97.0
21 ki — 42 48 90/12.0] 78.0 56 i 44 46 90 7.0 83.0 91 £7H 50 50 100 13.0 87.0 126 fEA L 58 52 110/13.0/ 97.0
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29 Jb)1 F 48 41 89 9.0 80.0 64| ¥ H It 46 48 94 10.0 84.0 99 /NBREEAY 50| 49 99 10.0| 89.0
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